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Development of Tension Probe for Anterior Cruciate Ligament
Experiment on Investigation of Function of Trial Model by 3 Point Support

*T. Naitou, M.Nagao and O. Yokota (Nihon University)

Abstract  Tendon graft receives the initial tension and is fixed. The tension in the knee joint is not fixed by the
case. It is the probe which detects the size of the tension in the joint by the mechanism inserted in 3 points. The
condition in which tilting angle 0 of the T-W chart became 45[deg]+10 was proven in the relationship between
measured value and calibration value. And, the evaluation method was also determined. Design data of the new

probe were obtained.
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